AHC Review Officer RO Urdu

Topic:- ROURDU_GA_07JAN_S2

1) Select the option that is related to the third number in the same way as the second number is related to the first

number
102:10405::201 :

7g fawer AT ST ot dear & S°T TR 9 fa § v ve g@dt g5, ugAr gt 9 dS AT g
102 : 10405 :: 201 : [Question ID = 1][Question Description = RO_7_ENG-HIN_Q_001]
1. 40402 [Option ID = 1]
2. 50402 [Option ID = 2]
3. 40401 [Option ID = 3]
4. 50401 [Option ID = 4]

2) Select the option that is related to the third term in the same way as the second term is related to the first term
MGV: HHA :: LCT :

7g fasmer gfHT ST At 73 8@ ST IHR ST § 9 vFR gEIr ug, v 97 4 g9fya §

MGV : HHA : : LCT : [Question ID = 2][Question Description = RO_7_ENG-HIN_Q_002]
1. HDZ [Option ID = 5]

2. GDY [Option ID = 6]

3. IDY [Option ID = 7]

4. IDZ [Option ID = 8]

3) Select the number pair in which the two numbers are related in the same way as are the two numbers of the following

number pair:
(28, 65)

g §%qT7 L0 AT 77 1 27 =7 39T wR At § g vw= 7 g5 3vw 1 7 981 §
(28, 65)[Question ID = 3][Question Description = RO_7_ENG-HIN_Q_003]

1. (37, 50) [Option ID = 9]

2. (2, 10) [Option ID = 10]

3. (126, 217) [Option ID = 11]

4. (26, 65) [Option ID = 12]

4) Three of the following terms are alike in a certain way. Find the odd one out

A& FATITTHFTATTE  STAT IS FTATT FIT [Question ID = 4][Question Description = RO_7_ENG-HIN_Q_004]
. NQS [Option ID = 13]
. HKM [Option ID = 14]
. ZCF [Option ID = 15]
. TWY [Option ID = 16]
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5) Three of the following four numbers are alike in a certain way and one is different. Find the odd one out

faa# @ AT deaTd fFdT g @ T GATTE AT UF AAT G ST 947 g, S& AT [Question ID = 5][Question Description =
RO_7_ENG-HIN_Q_005]

1. 136 [Option ID = 17]

2. 102 [Option ID = 18]

3. 121 [Option ID = 19]

4. 153 [Option ID = 20]

6) In a code language, DEAR is written as WVZI. How will SOUTH be written in the same language ?

U#F H& ATITH DEAR T WVZI f@T S1a18 S ATAT & SOUTH &7 3 T T for@T TR T ?[Question ID = 6][Question
Description = RO_7_ENG-HIN_Q_006]

1. HLFGS [Option ID = 21]

2. SGFLH [Option ID = 22]

3. HFLGS [Option ID = 23]



4. HFLSG [Option ID = 24]

7) If V = 44 and FAT = 54, then MASTER =

FfE V = 44 8 TITFAT = 54 §, TT MASTER = _ 2 [Question ID = 7][Question Description = RO_7_ENG-HIN_Q_007]
146 [Option ID = 25]
152 [Option ID = 26]
158 [Option ID = 27]
162 [Option ID = 28]
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8) Which number will replace the question mark (?) in the following series ?
0.15, 0.20, 0.30, 0.45, 0.65, ?

e guar d@ v f3reg (?2) F1 F17 91 gegr wiwearivg w3901 ?

0.15, 0.20, 0.30, 0.45, 0.65, ?[Question ID = 8][Question Description = RO_7_ENG-HIN_Q_008]
1. 0.8 [Option ID = 29]

2. 0.9 [Option ID = 30]

3. 0.85 [Option ID = 31]

4. 0.95 [Option ID = 32]

9) Select the letter cluster that will replace the question mark (?) in the following series :
EQM, GRL, ISK, ? , MUI

fow gaar # wa f¥reg (?) 71 wiwcariyg s 197 st aqz fAw:
EQM, GRL, ISK, 2 , MUI

[Question ID = 9][Question Description = RO_7_ENG-HIN_Q_009]

1. JTK

[Option ID = 33]
2. KTJ

[Option ID = 34]
3. JWK

[Option ID = 35]
4. KVJ

[Option ID = 36]

10) Study the pattern and replace the question mark (?) from the given alternatives.
= F7 fagww HR™rg ot fyg e fAFedi @ w3 feg () 771 wiyeariyg fifcg

43 111 | 6
50131 |9

4212117

[Question ID = 10][Question Description = RO_7_ENG-HIN_Q_010]
1. 7 [Option ID = 37]
2. 8 [Option ID = 38]
3. 5 [Option ID = 39]
4. 4 [Option ID = 40]

11) Study the pattern carefully and select the number that can replace the question mark (?)
STE < ITAET 7T eagd s FFgww g aa1 78 doar o 51w fFreg 2) F1 afaearfa stasdr @
7 6 9 12 ? 7

169 441 324

[Question ID = 11][Question Description = RO_7_ENG-HIN_Q_011]
1. 15

[Option ID = 41]



2. 14

[Option ID = 42]
3. 13

[Option ID = 43]
4. 11

[Option ID = 44]

12) A + B means A is sister of B

A - B means A is daughter of B

A x B means A is brother of B

A = B means A is husband of B
IfV+UxQ-T=+R+PxSthen howisPrelatedtoV?

A+BFTAAEBFTAZTTAR

A-BFTHIZBHFTIATAR

AxBHFTAT §BFTATSAZ

A:BFTad BaATUfqAZ

V+UxQ-T=+R+PxSHVF P T hTT a5 § ?[Question ID = 12][Question Description = RO_7_ENG-HIN_Q_012]
. Paternal uncle/=T=T [Option ID = 45]

. Paternal aunt/=T=T [Option ID = 46]

. Maternal uncle/HmT [Option ID = 47]

. Maternal aunt/®THT [Option ID = 48]
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13) In the following diagram, the triangle represents engineers, the circle represents sportsmen and the rectangle
represents artists. The numbers in different segments show the number of persons.

23 7
6

How many engineers are there who are neither sportsman nor artist ?

aE # B, sfSraarei &1 geafar §; g7, fawarfeat w1 qafar @ aa1 a7, Farerd 1 zafarg o9 gt /@ degrd safwat
FraegTafdi § U Fraa sfvraar € s 7 ) faarst € 7 f warwe € ?

[Question ID = 13][Question Description = RO_7_ENG-HIN_Q_013]
1. 4

[Option ID = 49]
2. 6

[Option ID = 50]
3.8

[Option ID = 51]
4. 7



[Option ID = 52]

14) The given venn diagram represents which of the given alternatives ?

FT g frg g fasedi & @ fra =1 fasfaswarg ?

[Question ID = 14][Question Description = RO_7_ENG-HIN_Q_014]
1. House, Window, Tenant/=%, fag#T, e

[Option ID = 53]
2. Weeks, Years, Months/@HTg, a9, WTg

[Option ID = 54]
3. Paragraph, Sentence, Pen/a’j@@’, ElEZMCE]

[Option ID = 55]
4. Trucks, Ships, Transport/g®, g, TagT

[Option ID = 56]

15) Three different positions of the same dice are shown below. Which number is on the face opposite the face showing 3
?

érsr et ara 7 19 e RafFat sqif g € a3 RAoda was e siTaT geqT 8 ?

[Question ID = 15][Question Description = RO_7_ENG-HIN_Q_015]
1. 6
[Option ID = 57]
2. 4
[Option ID = 58]
3.5

[Option ID = 59]
4. 2

[Option ID = 60]

16) Seven children A,B,C,D,E,F and G are standing in a queue. E is at the fifth place from left. Only C is between A and B.
G is at the first place from right. B is three places after F. What is the position of D from left ?

qTa a9 A,B,C,D,E,F TG UF 4FRFA @2 § ATAT AL H I(9d eATAILE T ANIBF AAIA daq@ C g I1AT AT IgA &ATH
9XGE FAATTETATTATIBE  ATHT AT E D HT TITA &9 €T & ?[Question ID = 16][Question Description = RO_7_ENG-
HIN_Q_016]

sixth/=21 [Option ID = 61]

fourth/==T [Option ID = 62]

. second/Z@T [Option ID = 63]

. third/#=T [Option ID = 64]
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17) Seema walks to her office. She is facing south when she reaches her office. After starting from home, she turned left
twice and then right before reaching her office. Which direction was Seema facing when she started from her home ?

AT oA FTATAT ATAATAT ] ST T A FIATAL Tgadt g AT STRT AU IAA KT MIEATE AT IR F97 F T4, g



T ATTATE T {EAT & M TT FTATAT TEA & TS STE AT ATAT & &TAT IF o(qF 9T/ FAT oA, T IqHT 7T Fova fyar #v
T AT ?[Question ID = 17][Question Description = RO_7_ENG-HIN_Q_017]

North/3=% [Option ID = 65]

East/qd [Option ID = 66]

. South/af2mT [Option ID = 67]

. West/qf2rm [Option ID = 68]
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18) The age of a father is two and a half times the age of his son. Five years ago, the father’s age was thrice the age of
the son then. What is the age of the son now ?

TF fUar 7 g QA AT WY FTITS AT R T1F a9 g fAIT T WY TH F1 A FT AT TAT AT 7T [T #1130 FAT § ?[Question
ID = 18][Question Description = RO_7_ENG-HIN_Q_018]

15 years/15 =% [Option ID = 69]

10 years/10 T [Option ID = 70]

12 years/12 o [Option ID = 71]

20 years/20 = [Option ID = 72]

AWN—\

19) If ‘+’ stands for ‘-’, ‘-’ stands for ‘x’, ‘x’ stands for ‘=’ and ‘+’ stands for ‘+’, then what will be the value of the

following expression ?
14-3+10x5+5

fx v wraref o, o FwTAS o0, 0 FTAS 2 AT FTAS  F, AT FTATAFATAT?
14 -3 + 10 x 5 + 5[Question ID = 19][Question Description = RO_7_ENG-HIN_Q_019]

65 [Option ID = 73]

48 [Option ID = 74]

45 [Option ID = 75]

40 [Option ID = 76]
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20) How many triangles are there in the given figure ?

T argfa 7 foraa Brgsr & 2

[Question ID = 20][Question Description = RO_7_ENG-HIN_Q_020]
1. 9

[Option ID = 77]
2. 10

[Option ID = 78]
3. 12

[Option ID = 79]
4. 13

[Option ID = 80]

21) Figure A is embedded in one of the four answer figures. Select the correct alternative.

AMHfT A, FITITTAFMAT A @ ww 7 aArfga e @ frweq affw



1<

[Question ID = 21][Question Description = RO_7_ENG-HIN_Q_021]

5

[Option ID = 81]

v

[Option ID = 82]

7

[Option ID = 83]

>

[Option ID = 84]

Topic:- ROURDU_GA_07JAN_S2 B

1) Direction for this question:
According to a certain code
(I) ‘may day zay’ means ‘good little dog’



(II) ‘jay cay zay’ means ‘girl behaves good’
(III) ‘nay diy cay’ means ‘girl makes noise’
(IV) ‘day pay cay’ means 'little girl fell’

53 &1 forg et feder

et T g2 3 q7A

(I) ‘may day zay’ T 5% ‘good little dog’ &
(II) ‘jay cay zay’ %1 &+ ‘girl behaves good’ &
(III) ‘nay diy cay’ T &¥ ‘girl makes noise’
(1IV) ‘day pay cay’ &1 a9 ‘little girl fell’ &

Which word is represented by ‘cay’ ?

‘cay’ forg srsT w1 wiafwferes wxar g ?
[Question ID = 201][Question Description = RO_7_ENG-HIN_Q_022]

1. makes

[Option ID = 801]
2. noise

[Option ID = 802]
3. fell

[Option ID = 803]
4. girl

[Option ID = 804]

2) Direction for this question:

According to a certain code

(I) ‘may day zay’ means ‘good little dog’
(II) ‘jay cay zay’ means ‘girl behaves good’
(III) ‘nay diy cay’ means ‘girl makes noise’
(IV) ‘day pay cay’ means 'little girl fell’

g5 &1 forg et feser :

et T g2 3 A7AR

(I) ‘may day zay’ T ¥ ‘good little dog’ ?
(II) ‘jay cay zay’ %71 &< ‘girl behaves good’
(III) ‘nay diy cay’ 7 &¥ ‘girl makes noise’
(1IV) ‘day pay cay’ %13 ‘little girl fell’ &

Which letter code stands for ‘little’ ?

‘little’ FTAAT FZ FATE ?

[Question ID = 202][Question Description = RO_7_ENG-HIN_Q_023]
1. day

[Option ID = 805]
2. pay

[Option ID = 806]
3. diy

[Option ID = 807]
4. nay

[Option ID = 808]

3) Direction for this question:

According to a certain code

(I) ‘may day zay’ means ‘good little dog’
(II) ‘jay cay zay’ means ‘girl behaves good’
(III) ‘nay diy cay’ means ‘girl makes noise’
(IV) ‘day pay cay’ means ‘little girl fell’



57 F71 g fyarr fAder :

frdt TF T & AR

(I) ‘may day zay’ T %% ‘good little dog’ 2
(II) ‘jay cay zay’ %1 &+ ‘girl behaves good’ &
(III) ‘nay diy cay’ &1 &< ‘girl makes noise’
(1IV) ‘day pay cay’ &7+ ‘little girl fell’

Which word is represented by ‘zay’ ?

‘zay’ fog ersT w1 wfafafares sxar e ?
[Question ID = 203][Question Description = RO_7_ENG-HIN_Q_024]

1. behave

[Option ID = 809]
2. fell

[Option ID = 810]
3. good

[Option ID = 811]
4. dog

[Option ID = 812]

4) Select the option that is related to the third word in the same way as the second word is related to the first word.
Gardener : Trowel :: Seamstress :

g fawer IfT T f1aR as3 @ SAT IR AT § YT THT gHT a5, g wsa & gefya g

qTT : w1 2 g [Question ID = 204][Question Description = RO_7_ENG-HIN_Q_025]
1. scythe/=ZdT [Option ID = 813]

2. crowbar/#@=a« [Option ID = 814]

3. scissors/#=T [Option ID = 815]

4. saw/¥<T [Option ID = 816]

Topic:- ROURDU_COMP_07JAN_S2
1) When you save to , your data will remain intact even when the computer is turned off.

I Au____ 7 gy 3 §, a7 FFELET 97 gIA I HY AIFHT STT IATAF TGIT [Question ID = 26][Question Description =
RO_7_ENG-HIN_Q_026]

1. RAM/3w [Option ID = 101]

2. Mother Board/@=¥ =€ [Option ID = 102]

3. Secondary storage device/fgd = Ta= %= [Option ID = 103]

4. Primary storage device/ ¥ g == [Option ID = 104]

2) Which of the following will not advance the slides in a slide show view?

fafafaa d @ w17 @15 A7 L | TATIT T A T T@TCAT?[Question ID = 27][Question Description = RO_7_ENG-

HIN_Q_027]

Esc key [Option ID = 105]

. Space bar [Option ID = 106]
Enter key [Option ID = 107]
Mouse button [Option ID = 108]
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3) What is full form of VolP ?

(VoIP) g9 &T faeqa a7 #4T § ?[Question ID = 28][Question Description = RO_7_ENG-HIN_Q_028]
1. Voice of Internet Power/Zz%=z #T o1fxf T gt [Option ID = 109]

2. Voice over Internet Protocol/Za¥+2 SErier & FU% &af+ [Option ID = 110]

3. Voice on Internet Protocol/Zz7a= Werier 9% eaf+ [Option ID = 111]

4. Very Optimised Internet Protocol/sTeafers sTermaTer g2 Tkt [Option ID = 112]

4) In an E-R diagram, an entity set is represented by :



T. WL, STIATH FT FL0 g5 Frast wiyffirea #Ta1 § ?[Question ID = 29][Question Description = RO_7_ENG-HIN_Q_029]
rectangle/3#T [Option ID = 113]

diamond/=TaHUE [Option ID = 114]

ellipse/Tfer=r [Option ID = 115]

circle/@=< [Option ID = 116]

A WN -

5) The cell having bold boundary in ‘Excel’ is called ?

THFIT | qI°E TTISET qTH A FT FIT HFT S7AT § ?[Question ID = 30][Question Description = RO_7_ENG-HIN_Q_030]
. Relative/==fa [Option ID = 117]

. Active/#f%=T [Option ID = 118]

. Absolute/==uid [Option ID = 119]

. Mixed/fafara [Option ID = 120]

Aww—\

6) In HTML, tags consist of keywords enclosed within :

.. AU, |, 7 F arfaw F1a€ gra §[Question ID = 31][Question Description = RO_7_ENG-HIN_Q_031]
Flower brackets/¥aTa¥ #%zd (F12) [Option ID = 121]

angular brackets <>/TR[@I¥ F#eH <> [Option ID = 122]

. parentheses ( )/T¥Atfe () [Option ID = 123]

square brackets [ ]/&Fama¥ a&=# [ ] [Option ID = 124]

AW N =

7) Which of the following is the greatest advantage of co-axial cabling ?

FT-ufFas dAT F1Fr797 fAFwew srfragw arariaa FT7 147 & ?[Question ID = 32][Question Description = RO_7_ENG-

HIN_Q_032]

High security/33 gz&T [Option ID = 125]

Physical dimensions/emif¥= smama [Option ID = 126]
Long distances/<T g [Option ID = 127]

Easily tapped /=mam=T & f=rfega [Option ID = 128]

A WN -

8) Who designed the first electronic computer ENIAC ?

. 0.8 . HY. 9gdT g Fgifas egex fraa fRsrga 971 ?2[Question ID = 33][Question Description = RO_7_ENG-HIN_Q_033]
Von Neumann /a9 FZ#+ [Option ID = 129]

. Joseph M Jacquard/ST=r® T S#FTE [Option ID = 130]

. Presper Eckert and John W Mauchly/3#u¥ T#¢ ST S €&, el [Option ID = 131]

. John Napier/si= 9= [Option ID = 132]

AWN—\

9) Pipeline strategy requires :

TTIAATST AT T AMTITFAT g[Question ID = 34][Question Description = RO_7_ENG-HIN_Q_034]
1. Instruction execution/fA#er w79 [Option ID = 133]

2. Instruction pre-fetch/f=ger Wi-%= [Option ID = 134]

3. Instruction decoding/fA=er f2=T{=r [Option ID = 135]

4. Instruction manipulation/fS=er fH=rfsra [Option ID = 136]

10) The attribute specifies (in pixels) the distance between two adjacent cells.

Traaw T4 3 19 77 g0 g 7 dwaar foa @ fAafica F7@ € ?[Question ID = 35][Question Description = RO_7_ENG-

HIN_Q_035]
. Width/=T=T [Option ID = 137]

. Height/=T [Option ID = 138]

. Cell padding/&=r Tt [Option ID = 139]
. Cell spacing /&= TufFT [Option ID = 140]

A WN -

11) The method of internet access that requires a phone line, but offers faster access speeds than dial-up is the
connection.

®BITATET & f9Q Fevae ugfa aF wg9 & g ararg afywa &, g fAagfag Frga 3 g FT FAFAT ZIAT ATIRTY
[Question ID = 36][Question Description = RO_7_ENG-HIN_Q_036]

1. cable access/#aa THH (Tg=) [Option ID = 141]

2. satellite access/STIE THH (T¢=) [Option ID = 142]

3. fiber-optic service/Tza¥ Arates 74T [Option ID = 143]



4. Digital Subscriber Line (DSL)/fEfSteer sawr=t 4f<F [Option ID = 144]
12) A parity bit is

uF i fae g [Question ID = 37][Question Description = RO_7_ENG-HIN_Q_037]
used to indicate upper case letter/3g Hia{de s FT IR [Option ID = 145]

the last bit in a byte/=ifa® fa= &1 aTz= & =7 & [Option ID = 146]

the first bit in a byte/y=w fare %7 o122 % =7 § [Option ID = 147]

used to correct errors/THETA TIT T TIRT [Option ID = 148]

A W N -

13) All the characters that a device can use are called :

U fEars® grer 9T FFy TR a1 aAY FRFEH wgAard g

[Question ID = 38][Question Description = RO_7_ENG-HIN_Q_038]
1. character codes/#¥#e¥ FIgH
[Option ID = 149]
2. character set/#3#¥ &2
[Option ID = 150]
3. keyboard character/#1-aTg &<

[Option ID = 151]
4. character alphabet/##a¥ T=hTaE

[Option ID = 152]
14) The process of writing out computer instructions is known as

Froge fAda foras #Yafsar®1___ 8T S1aT1 8 [Question ID = 39][Question Description = RO_7_ENG-HIN_Q_039]
. documenting/ETHFIHTET [Option ID = 153]

coding /#TET [Option ID = 154]

compiling/FFaeTET [Option ID = 155]

assembling/Ta= T [Option ID = 156]

AwN—\

15) A device that is connected to the motherboard is called

AR @ 2 frarga (@) =1 FZTATATE [Question ID = 40][Question Description = RO_7_ENG-HIN_Q_040]
1. external device/aTg<T 7= [Option ID = 157]

2. adjunct device/®=Tst® %= [Option ID = 158]

3. peripheral device/wf¥¢fr (aTg]) %= [Option ID = 159]

4. internal device/sm=af¥= 7= [Option ID = 160]

16) is a set of symbols, keywords and set of rules to construct a statement.

TF FIT q979 & g wdt®w1, Fafry asq f< 747 T ¢F G4 ¢ [Question ID = 41][Question Description =
RO_7_ENG-HIN_Q_041]
Computer program/#¥=Ie¥ ST [Option ID = 161]
Programming language /ST 97T [Option ID = 162]
Assemble/#H{raa (THFa<T) [Option ID = 163]
Syntax/ &= [Option ID = 164]
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17) Which of the following is not an Antivirus ?

fwfafaa 8 @ 791 s ¢dharaww At 87

[Question ID = 42][Question Description = RO_7_ENG-HIN_Q_042]
1. Avast/saeq

[Option ID = 165]
2. Trend Micro/Z aTeHr

[Option ID = 166]
3. Kaspersky/&EaveTs

[Option ID = 167]
4. Bagle/dTer

[Option ID = 168]



18) Which of the following can only have sequential access ?

fafafeg 9 @ frasdt faw agwfas €9 1 95T § ?[Question ID = 43][Question Description = RO_7_ENG-HIN_Q_043]
Disk /T2 [Option ID = 169]

Tape/7 [Option ID = 170]

CD-ROM/#t €%, 71w [Option ID = 171]

DVD-ROM/ZT.#1. €Y. & [Option ID = 172]

AW N -

19) Full form of JPEG is :

. ft. 5.1, w71 faeqa TaET #9477 :[Question ID = 44][Question Description = RO_7_ENG-HIN_Q_044]
1. Joint Photographic Experts Group/siTge ®IErRIfthe TFae 37 [Option ID = 173]

2. Joint Protocol Experts Graphics/STTEe STErahiel a9 I [Option ID = 174]

3. Joint Programme Experts Graphics/STTEe THITH T=F9E AT [Option ID = 175]

4. Joint Project Experts Group/SiTge WTst#e T#TE 7 [Option ID = 176]

20) Ctrl, Shift and Alt are called keys.

Ctrl, Shift T Alt % ot FgTaTaT ]

[Question ID = 45][Question Description = RO_7_ENG-HIN_Q_045]
1. Modifier/®rEwmT

[Option ID = 177]
2. Function/®#erT

[Option ID = 178]
3. Alphanumeric/TeRga =

[Option ID = 179]
4. Adjustment/UEsTEaliz

[Option ID = 180]

21) Manipulating data to create information is known as

AT 97 @ forg T | T FY %Zd g [Question ID = 46][Question Description = RO_7_ENG-HIN_Q_046]
1. Feedback/®r=d= [Option ID = 181]

2. Programming/SHITHET [Option ID = 182]

3. Processing/STET [Option ID = 183]

4. Analysis/TATferfaE [Option ID = 184]

22) represents raw facts, whereas is a meaningful data.

wg aeat w1 wiafafecg swar g, safs TF gl 227 & [Question ID = 47][Question Description =
RO_7_ENG-HIN_Q_047]
1. Information, reporting/z=rzaer, faif&T [Option ID = 185]
2. Data, information/=TeT, TFhRHYA [Option ID = 186]
3. Information, bits/z=kr#e, faew [Option ID = 187]
4. Records, bytes/fareH, atres [Option ID = 188]

Topic:- ROURDU_ENG_07JAN_S2

1) Fill in the blank with the appropriate option.
We decided to the schedule already agreed upon. [Question ID = 48][Question Description = RO_7_ENG-

HIN_Q_048]
adhere [Option ID = 189]
adhere to [Option ID = 190]
adhere with [Option ID = 191]
adheres [Option ID = 192]
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2) Choose from the options, the correct antonym of the following word:
“Denigrate”[Question ID = 49][Question Description = RO_7_ENG-HIN_Q_049]
1. Malign [Option ID = 193]

2. Trash [Option ID = 194]

3. Endorse [Option ID = 195]



4. Asperse [Option ID = 196]

3) In the given question, find out which part of the sentence (I/Il/lll/IV) has an error. Chose the correct option accordingly.
The barn was bigger / than a church, / and the fresh hay bails / were stacked to the roof.

I II III v

[Question ID = 50][Question Description = RO_7_ENG-HIN_Q_050]
1. 1

[Option ID = 197]
2.1

[Option ID = 198]
3.1

[Option ID = 199]
4. IV

[Option ID = 200]

4) Change the given sentence from direct speech to indirect speech :

My teacher often says to me, “If you don’t work hard, you will fail”.[Question ID = 51][Question Description = RO_7_ENG-
HIN_Q_051]

My teacher often says to me that if you don’t work hard you will fail. [Option ID = 201]

My teacher often says to me that if | don’t work hard you will fail. [Option ID = 202]

My teacher often says to me that if | don’t work hard I shall fail. [Option ID = 203]

My teacher often says to me that if you don’t work hard | will fail. [Option ID = 204]

AW N =

5) Fillin the blank with the appropriate option:

You will have to your misdeeds and malpractices.[Question ID = 52][Question Description = RO_7_ENG-HIN_Q_052]
1. answer [Option ID = 205]

2. answer for [Option ID = 206]

3. answer to [Option ID = 207]

4. answer with [Option ID = 208]

6) Choose the correctly spelt word from the following options:[Question ID = 53][Question Description = RO_7_ENG-
HIN_Q_053]

Sacrilegious [Option ID = 209]

niavete [Option ID = 210]

pointsetia [Option ID = 211]

manoeuvere [Option ID = 212]

AW N =

7) Complete the sentence using an appropriate option:

Most of the time, social media users can be incredibly .[Question ID = 54][Question Description = RO_7_ENG-
HIN_Q_054]

grievous [Option ID = 213]

ruthless [Option ID = 214]

joyous [Option ID = 215]

melancholy [Option ID = 216]

A W N -

8) Choose the correct meaning of the word “Ubiquitous” from the given options :[Question ID = 55][Question Description =
RO_7_ENG-HIN_Q_055]

1. extremely rare [Option ID = 217]

2. difficult to understand [Option ID = 218]

3. being present everywhere at once [Option ID = 219]

4. not willing to continue [Option ID = 220]

9) What is the synonym of the word “Imbroglio”[Question ID = 56][Question Description = RO_7_ENG-HIN_Q_056]
1. complicated [Option ID = 221]

2. simple [Option ID = 222]

3. dangerous [Option ID = 223]

4. calm [Option ID = 224]

10) What is 'Fear of people’ called? Choose the correct option :[Question ID = 57][Question Description = RO_7_ENG-
HIN_Q_057]

1. Anthropophobia [Option ID = 225]

2. Hydrophobia [Option ID = 226]



3. Anthrophobia [Option ID = 227]
4. Anginophobia [Option ID = 228]

Topic:- ROURDU_HIN_07JAN_S2

1) oo 3@ qA FT Hgd 3, FSTHT @ 7 I [Question ID = 58][Question Description = RO_7_ENG-HIN_Q_058]
1. 37877 [Option ID = 229]

2. 9= [Option ID = 230]

3. @ [Option ID = 231]

4. «af [Option ID = 232]

2) ‘smeHTEN’ ® TLF G & -[Question ID = 59][Question Description = RO_7_ENG-HIN_Q_059]
1. 07 [Option ID = 233]
2. FfE [Option ID = 234]
3. % [Option ID = 235]
4. =T [Option ID = 236]

3) FdAt & st AR fAafafaa ® & SIT-aT a5 LF 8

[Question ID = 60][Question Description = RO_7_ENG-HIN_Q_060]
1. T
[Option ID = 237]
2. difdw
[Option ID = 238]
3. dsgwiafsa
[Option ID = 239]
4. TTEA

[Option ID = 240]

4) faufafad & g 53 § -[Question ID = 61][Question Description = RO_7_ENG-HIN_Q_061]
1. =t [Option ID = 241]

2. FTae [Option ID = 242]

3. 3 [Option ID = 243]

4. 9q [Option ID = 244]

5) ‘XTH AIGT #1 _q&d® Ig gHaATg ’
tgifrg ugr sTaf=aa §

[Quest1on ID = 62][Question Description = RO_7_ENG-HIN_Q_062]
1. T, ARRATE, TR, THa=d, FETHE

[Option ID = 245]
2. ST, ARaTEE, S, UHaE, wAiRw

[Option ID = 246]

[Option ID = 247]
4, =, Srfaar=, e, aga=d, FHHE

[Option ID = 248]

6) ‘STEI™ A TG FT FET M AY_FAd I9
gifraas g -
[Question ID = 63][Question Description = RO_7_ENG-HIN_Q_063]
1. frear=es waar
[Option ID = 249]
2. qRYETHF HEAATH

[Option ID = 250]
3. fAsEmET gda™

[Option ID = 251]
4. T gAATH

[Option ID = 252]



7) ‘usT qF gIwEt
tgifea frar g

[Question ID = 64][Question Description = RO_7_ENG-HIN_Q_064]
1. TR
[Option ID = 253]
2. SFAE
[Option ID = 254]
3. feis
[Option ID = 255]
4. §IE
[Option ID = 256]

8) ‘FTH q UTAA GIAT TH WTT FT A FIT TAT LTI & -[Question ID = 65][Question Description = RO_7_ENG-
HIN_Q_065]

. Sg¥ 3T [Option ID = 257]

. UgTg 22 9=AT [Option ID = 258]

. afsat 32T [Option ID = 259]

. SA-$[FFT GTF 2T ST [Option 1D = 260]

AW N =

9) ‘g’ & ILH 9919 % -[Question ID = 66][Question Description = RO_7_ENG-HIN_Q_066]
. agAif2 [Option ID = 261]
. FHGTT [Option ID = 262]

. @<= [Option ID = 263]
. T3 [Option ID = 264]

A wWwN -

10) ‘Tas’ & fag aTvgE s §

[Question ID = 67][Question Description = RO_7_ENG-HIN_Q_067]
1. =% &7 A A qTeAT
[Option ID = 265]
2. w&E W Sfaw arer
[Option ID = 266]
3. % ¥ @A arer

[Option ID = 267]
4, T Y IO I ATAT

[Option ID = 268]

Topic:- ROURDU_POLITY_07JAN_S2
1) Which part of the Indian Constitution has been described as the ‘Soul of the Constitution” ?

AT & frar & fopw 9wt w1 G frar #1 swent & w7 § g fpa1 777 | ?2[Question ID = 68][Question Description =
RO_7_ENG-HIN_Q_068]

1. Fundamental Rights/®Terh 31fer [Option ID = 269]

2. Directive Principles of State Policy/=tfa fazersk frgrea [Option ID = 270]

3. The Preamble/w&ata=T [Option ID = 271]

4. Right to Constitutional Remedies/@a&m{a s U= #T 3rfakT< [Option ID = 272]

2) The power to carve out a new state is vested in

uF 7T T5T & faafo #7 afw fFad s=af1fga & [Question ID = 69][Question Description = RO_7_ENG-HIN_Q_069]
the Parliament/&&= [Option ID = 273]

the President/ZTgafd [Option ID = 274]

the Council of Ministers/®=T af¥wg [Option ID = 275]

State’s Reorganization Commission/¥Ts% A&+ AT [Option ID = 276]

A w N =

3) How many fundamental duties are there in the Indian Constitution ?

AT § g & fFaq i+ 3= w7 3779 f537 777 § ?[Question ID = 70][Question Description = RO_7_ENG-

HIN_Q_070]
1. Seven/®Td [Option ID = 277]



2. Nine/dT [Option ID = 278]
3. Eleven/¥a1%g [Option ID = 279]
4. Twelve/aT¥g [Option ID = 280]

4) Who was the President of India at the time of proclamation of emergency in 1975?

F¥ 1975 F f3HT TT MI7T FTATT STATTUT H FHF I AT & TFITF FT9 T ?2[Question ID = 71][Question Description =
RO_7_ENG-HIN_Q_071]

V.V. Giri/#t. 3. fif¥ [Option ID = 281]

Gaini Zail Singh/=Tt =1 & [Option ID = 282]

Fakhruddin Ali Ahmed/F@%&1" it sTgwa [Option ID = 283]

Shankar Dayal Sharma/ef®< 34Tt 9t [Option ID = 284]

A W N -

5) Who held the office of the Vice-President of India for two consecutive terms ?

Feifofaa v 9 3 w17 g, Degia w137 & ITgafy 3 €7 F 7 ATa18 wrdarer ot g 2

[Question ID = 72][Question Description = RO_7_ENG-HIN_Q_072]
1. S. Radhakrishnan/TTgmea=

[Option ID = 285]
2. R. Venkataraman/#T<. d&eea+

[Option ID = 286]
3. Shankar Dayal Sharma/ei< =aTer 98T

[Option ID = 287]
4. V.V. Giri/=T. . ffy

[Option ID = 288]

6) In Indian Polity which one of the following is Supreme ?

fwfafaa faeeat & @ widta aaifa § gatg #7178 ?

[Question ID = 73][Question Description = RO_7_ENG-HIN_Q_073]
1. The Supreme Court/3FqH =TT

[Option ID = 289]

2. The Constitution /@ arem
[Option ID = 290]

3. The Parliament/&as

[Option ID = 291]
4. The President/ZTgafa

[Option ID = 292]

7) Who made the following statement about the Indian Constitution - ‘Indian constitution strikes a good balance between
extreme rigidity and too much flexibility’? Choose the correct option :

R wrdty " faara & gl / fauafofaa sa7 75818 2 91T 9 g s sraaty i< afys afidoa & geq Sgadie
qH<aY %‘[Question ID = 74][Question Description = RO_7_ENG-HIN_Q_074]

B.R. Ambedkar/=T. #T<. sr¥er==< [Option ID = 293]

M.V. Pylee/TH. dt. ara=T [Option ID = 294]

Alexanderowicz/Teravg 1tast [Option ID = 295]

K.C. Wheare/#. #. =z [Option ID = 296]

A W N -

8) Which of the following States have notified Panchayats (Extension to Scheduled Areas) Act (PESA) 1996 Rules?
(a). Andhra Pradesh

(b). Himachal Pradesh

(c). Gujarat

(d). Mizoram

Select the Correct answer using the options given below :

fafafaa 8 @ 17 9U/F TSA/ASTT T 99T (@ a4 7 faeqw) afafraa (PESA) 1996 foaw srfergf~a fru 872
(1) Jw=er waer
(2) fgwTaa w3



(3) TSIETT

(4) frsiTw

frg g faweat & & Gt STITFTITTFL [Question ID = 75][Question Description = RO_7_ENG-HIN_Q_075]
(@), (b) and (c) only / F=< (a), (b) ¥ (c) [Option ID = 297]

. (d) only / %= (d) [Option ID = 298]

. (a) and (c) only /#== (a) 3< (c) [Option ID = 299]

. (b), (c) and (d) only /&= (b), (c) ¥ (d) [Option ID = 300]

AN wnN -

9) The office of Lokpal and Lokayukta in India is based on which of the following ?

ATTT A ATHITA AT AHTLF FT w1aiwa faefafaa & @ fpa oz srarfva &:-[Question ID = 76][Question Description =
RO_7_ENG-HIN_Q_076]

1. Parliamentary Commissioner of UK/ &<k (T. #.) [Option ID = 301]

2. Ombudsman in Scandinavia/Ff2afaaT & r=dTer [Option ID = 302]

3. Procurator General of Russia/#gTaTferaar (¥4) [Option ID = 303]

4. Council of State in France/Trs7 7f¥ug () [Option ID = 304]

10) Which of the following 'Liberties’ is not embodied in the Preamble to the Constitution of India ?

fawfafag & 7 TaaTar & § AT wrd T g frarT 7 weqraaT § g 787 § ?[Question ID = 77][Question Description =
RO_7_ENG-HIN_Q_077]

Liberty of Thought/f3=me T #ard=rar [Option ID = 305]

Liberty of Expression/sif¥r=rf<r #t Tad=rar [Option ID = 306]

. Liberty of Belief/far=ater T Ta=raT [Option ID = 307]

Economic Liberty/ 3t a=raT [Option ID = 308]

A W N -

11) In India, the bank NABARD does not provide refinance to

AT | ATA1E a5 (A9 & & f7d ¢ a3 raT Suasa gt #<d1?[Question ID = 78][Question Description = RO_7_ENG-
HIN_Q_078]

Scheduled Commercial Banks/ s =d ==mawTia d% [Option ID = 309]

Regional Rural Banks/ &= oo §% [Option ID = 310]

State Land Development Banks/7Ts7 «qf¥ fasm & [Option ID = 311]

Export-lmport Bank/smama-fa=fa &= [Option ID = 312]

A w N =

12) In which year was the Indian Rupee devalued two times within a month ?

ra g & ATLET TIATFT T TTE B (3T T AT ATYFAT &1 TAT AT ?[Question ID = 79][Question Description = RO_7_ENG-

HIN_Q_079]

1990 [Option ID = 313]
1991 [Option ID = 314]
1992 [Option ID = 315]
1994 [Option ID = 316]

A wWN =

13) Which one of the following is an Indian folk dance ?

fafafeg & & Y997 IXdT @ 77 & ?[Question ID = 80][Question Description = RO_7_ENG-HIN_Q_080]
Manipuri/=firg<T [Option ID = 317]

Mohiniattam/®rg=tergw [Option ID = 318]

Garba/3Zat [Option ID = 319]

Kathakali/#2r<ft [Option ID = 320]

AW N -

14) How many ‘Tirathankars’ are there in the Jain religion ?

I g9 & Fvqita foraa didHT € ?2[Question ID = 81][Question Description = RO_7_ENG-HIN_Q_081]
20 [Option ID = 321]
23 [Option ID = 322]
24 [Option ID = 323]
. 25 [Option ID = 324]

A wWw N =

15) Who is the founder of ‘Yoga Philosophy’ ?

T T P GEATTFH F19 § ?[Question ID = 82][Question Description = RO_7_ENG-HIN_Q_082]
1. Kapil/=fuer [Option ID = 325]



2. Gautam/¥taw [Option ID = 326]
3. Patanjali/=tfer [Option ID = 327]
4. Jaimini/stfaf¥ [Option ID = 328]

16) The famous “Charkula Dance” belongs to which of the following places ?

wfarg =Tegar T %9 ea17 @ 577 & ?[Question ID = 83][Question Description = RO_7_ENG-HIN_Q_083]
. Avadh/Z=# [Option ID = 329]

. Bundelkhand/g&@@v= [Option ID = 330]

. Ruhelkhand/®g=@v= [Option ID = 331]

. Brijbhoomi/gsrsf¥ [Option ID = 332]

A W N -

17) “Chola Dynasty” patronised which religion ?

=T Trera oA Foaa g #7111 F12[Question ID = 84][Question Description = RO_7_ENG-HIN_Q_084]
1. Jainism/St9 [Option ID = 333]

2. Buddhism/=TZ [Option ID = 334]

3. Vaishnav Religion/atura & [Option ID = 335]

4. Shaiv Religion/¢r &+ [Option ID = 336]

18) “Sarhul festival’ belongs to which State of India ?

"AYEA I AT B (g Oy q dafga g ?

[Question ID = 85][Question Description = RO_7_ENG-HIN_Q_085]
1. Rajasthan/Trsream

[Option ID = 337]
2. Madhya Pradesh/®eT waer

[Option ID = 338]
3. Jharkhand/#TTETe

[Option ID = 339]
4. West Bengal /afare awrer

[Option ID = 340]

Topic:- ROURDU_GS_07JAN_S2
1) What happens to a spherical ball made of steel when it is dipped in a bucket full of mercury ?

I T T IHTTH NA AT IR G G JeT § IS ATAT S, AT AT _

[Question ID = 86][Question Description = RO_7_ENG-HIN_Q_086]
1. It sinks to the bottom/1= % gadT g

[Option ID = 341]
2. It floats on the surface/ddg % a3dT &

[Option ID = 342]
3. It dissolves/de SITdT &

[Option ID = 343]
4. It is suspended in the middle/== & seadT &

[Option ID = 344]
2) Weightlessness experienced in a spaceship is due to :

FEITE AT § ATIEAIAT HT AT F36F FTL07 / AT & ?[Question ID = 87][Question Description = RO_7_ENG-HIN_Q_087]
1. Absence of inertia/stgea # srqafeafa [Option ID = 345]

2. Absence of gravity/I&caTatvT a7 T dUeAfa [Option ID = 346]

3. Absence of accelerating force/@ur «1f<F #T srqafeafa [Option ID = 347]

4. Free fall of the spaceship /3T=afer 7T & Tad= =7 7 7T [Option ID = 348]

3) Which of the following is NOT an example of potential energy ?

oo & 9 us fRufyst soif #Tea w87 & [Question ID = 88][Question Description = RO_7_ENG-HIN_Q_088]
1. Water stored in a dam/=ter H 9T+ %7 37207 [Option ID = 349]



2. A compressed spring/##=d f&RT [Option ID = 350]
3. Running water/agaT ot [Option ID = 351]
4. A raised hammer/3T g3 41T [Option ID = 352]

4) A boat will submerge in water when it displaces water equal to its own

TH ATF T # T ATTIAT T T I F FIT 7Y F71 faearfvg sy

[Question ID = 89][Question Description = RO_7_ENG-HIN_Q_089]
1. Volume/3mada

[Option ID = 353]
2. Weight/s%

[Option ID = 354]
3. Surface area/®dg &=T%e

[Option ID = 355]
4. Density/=ca

[Option ID = 356]
5) S.l. unit of luminous intensity is :

TRTAATT AT F T AT ATTF (S.1.) THTE &2

[Question ID = 90][Question Description = RO_7_ENG-HIN_Q_090]
1. lumen/=g&
[Option ID = 357]
2. lux/<=F
[Option ID = 358]
3. candela/#a=aT

[Option ID = 359]
4. watt/4gTe

[Option ID = 360]
6) Why does soap solution appear cloudy ?

ILT HT 9 g o 41 fa@ar g ?[Question ID = 91][Question Description = RO_7_ENG-HIN_Q_091]

Soap micelles are large enough to scatter light/HTa FT FTYST TaAT F=T 2raT & 3 waTer #7 AT 2ar € [Option ID = 361]
Soap micelles easily refract light/STa T FUTGST WHTET T AETAT  7TadH F2 212 [Option ID = 362]

. Soap micelles are too tiny to reflect light/® T T FHUI{sT AT AT & {5 78 THT9r T Trafdd 721 7 GFar g [Option ID = 363]
Soap micelles never scatter light/®Ta T FoTqsr Shter &1 4T off w7 72 7ar € [Option ID = 364]

A W N -

7) Which of the following are the two most important constituents of bronze ?

e d  Tid F (eI aecF T8 § ?

[Question ID = 92][Question Description = RO_7_ENG-HIN_Q_092]
1. Copper and Tin/ataT i< fomr
[Option ID = 365]
2. Copper and Zinc/aTaT 3fT SteaT
[Option ID = 366]
3. Copper and Aluminium/TTaT ¥ Tesi T

[Option ID = 367]
4. Copper and Nickel/ataT 3T et

[Option ID = 368]

8) Isotopes of an element have :

et aea & gwegTiasT & 9T 91T §:[Question ID = 93][Question Description = RO_7_ENG-HIN_Q_093]
1. the same physical properties/d®T wifa= fareraard [Option ID = 369]

2. different chemical properties/fafersr Tramafa=s fadroard [Option ID = 370]

3. different number of neutrons/f¥s =1zi % H@aT [Option ID = 371]

4. different atomic numbers/f¥r= TaTUTEF TeaT [Option ID = 372]



9) The pH value of milk is

& HT . 7. ATT F9T §?[Question ID = 94][Question Description = RO_7_ENG-HIN_Q_094]
2.4 [Option ID = 373]

3.8 [Option ID = 374]

6.6 [Option ID = 375]

8 [Option ID = 376]

A W N -

10) Name the first person to classify elements.

I8 I qcal T ANTH0 (Hha+ F6AT?

[Question ID = 95][Question Description = RO_7_ENG-HIN_Q_095]
1. Lother Meyer/TI¥ ¥

[Option ID = 377]
2. Newland/=feve

[Option ID = 378]
3. Mendeleev/#z<fa

[Option ID = 379]
4. Dobereiner/zTa¥za<

[Option ID = 380]
11) If we add salt to pure water, its boiling point will -

gfegu q@ T & aAF w1 FAard §, arFAAiF___ [Question ID = 96][Question Description = RO_7_ENG-HIN_Q_096]
. Increase /== [Option ID = 381]

decrease by ¥ value / V2 SIqqTd F =T [Option ID = 382]

remain same / &1 ¥ [Option ID = 383]

decrease by % value / % sIqTd ¥ =T [Option ID = 384]

AWN—\

12) ‘Ontogeny repeats phylogeny’ is the brief definition of -

P ITfAgT FT ggTare’ 78 foeashy o farg afesrar §-[Question ID = 97][Question Description = RO_7_ENG-HIN_Q_097]
1. Mutation theory/Seafiad= ffrgT= [Option ID = 385]

2. Biogenetic law/sTTfa-smafxr 2w [Option ID = 386]

3. Darwinism/gfafasw [Option ID = 387]

4. Abiogenesis/Tfagrsrtee [Option ID = 388]

13) Who is the father of Genetics ?

AL TAFT F T9F F17 § ?[Question ID = 98][Question Description = RO_7_ENG-HIN_Q_098]
. Darwin/=TZfaw [Option ID = 389]

. Mendel/&== [Option ID = 390]

. Bridge/fa=T [Option ID = 391]

. Wiseman/aTsa8+ [Option ID = 392]

A W N -

14) Vitamin A is mainly stored in :

frerfara-u sgaaar ® gufgg grdr g
[Question ID = 99][Question Description = RO_7_ENG-HIN_Q_099]
1. Lungs/®%E

[Option ID = 393]
2. Kidney/fF=+T (37)

[Option ID = 394]

3. Spleen/wtgT

[Option ID = 395]
4. Liver/T%d

[Option ID = 396]

15) Islets of Langerhans is situated in



AT R Y _____ # safRaa & [[Question ID = 100][Question Description = RO_7_ENG-HIN_Q_100]
Spleen/wfTgT [Option ID = 397]

Brain/f&®Tr [Option ID = 398]

Pancreas/= & fRorq aroff A 7 3 [Option ID = 399]

Liver/=#a [Option ID = 400]

A w N =

16) Khadins, Bundhis, Ahars and Kottas are ancient structures built for :

FIE, LT, MG TS F1gq ST G107 d=17 & fao faffa feo o

[Question ID = 101][Question Description = RO_7_ENG-HIN_Q_101]
1. Storing grains /TSt HAZT

[Option ID = 401]
2. Conservation of soil/¥aT HT&fr

[Option ID = 402]
3. Water harvesting/Sis §=39

[Option ID = 403]
4. Conservation of Wildlife/a=r Sfrar ®zeror

[Option ID = 404]
17) Which of the following is a food chain ?

fAw & | ST T T @y &1 Hufuw F@ @ ?

[Question ID = 102][Question Description = RO_7_ENG-HIN_Q_102]
1. Grass, Wheat and Mango /=, % ¥ amw

[Option ID = 405]
2. Grass, Goat and Human/=m, <Y ST AT

[Option ID = 406]
3. Goat, Cow and Elephant/@&<T, 1T v g1t

[Option ID = 407]
4. Grass, Fish and Goat/=m, A== i Tl

[Option ID = 408]

Topic:- ROURDU_HIST_07JAN_S2
1) Which noted scholar wrote Vikramankadevcharita ?

g afvg frgmw 7 fawaisgafa ot ?

[Question ID = 103][Question Description = RO_7_ENG-HIN_Q_103]
1. brihana/fEm

[Option ID = 409]
2. Kalhan/#egom

[Option ID = 410]
3. Kalidas/=Tferamer

[Option ID = 411]
4. Jaydeva/s7ea

[Option ID = 412]
2) Who among the following witnessed the reigns of eight Delhi Sultans?

faafafea 9 @ fraq srs fyedT gearal & araasTa w1 39T ?

[Question ID = 104][Question Description = RO_7_ENG-HIN_Q_104]
1. Ziauddin Barani/frmsg= s<=T

[Option ID = 413]
2. Shams-i-Siraj Afif/ere-1-fRrer-rfie

[Option ID = 414]
3. Minhas-us-Siraj/frgm-39- e



[Option ID = 415]
4. Amir Khusro/ 3T g&r

[Option ID = 416]
3) Who among the following wrote commentaries on Harsharvardhana’s administration and the court life in Kannauj ?

oo & frga glada & 7aT9T U5 AT & G199 & a1 § f9r@T ?[Question ID = 105][Question Description =
RO_7_ENG-HIN_Q_105]

. Al-Beruni/#iet-a==T [Option ID = 417]

. Fa-Hien/wrgT [Option ID = 418]

. Hiuen-Tsang /=3 |1 [Option ID = 419]

. Ibn Batutah/z# agar [Option ID = 420]

A W N -

4) Who wrote ‘Ramcharitam’ ?

TTITHT’(HI(' fergw forET ?[Question ID = 106][Question Description = RO_7_ENG-HIN_Q_106]
1. Banabhatta/=aTorag [Option ID = 421]

2. Kalidas/=Tferam [Option ID = 422]

3. Sandhyakar Nandi/@=ams< =<1 [Option ID = 423]

4. Tulsidas/TerTaTe [Option ID = 424]

5) Who founded the Vikramshila University ?

famafarar ferafaaraa & soa+T a9 FT 2[Question ID = 107][Question Description = RO_7_ENG-HIN_Q_107]
Devapala/ZaTer [Option ID = 425]

. Dharmpala/e®qTer [Option ID = 426]

Dhruva/¢art [Option ID = 427]

Gopala/TmaTT [Option ID = 428]

A WN -

6) Which were the three Presidency towns of British India ?

forfesr ag & a7 IHSHT rgTHT-8 F ?[Question ID = 108][Question Description = RO_7_ENG-HIN_Q_108]
1. Calcutta, Delhi, Bombay/@er=T, faeet, arer [Option ID = 429]

2. Delhi, Bombay, Madras/f&==T, o=, wsTe [Option ID = 430]

3. Calcutta, Delhi, Madras/=Fe==T, faweft, A= [Option ID = 431]

4. Calcutta, Bombay, Madras/ae==T, 1%, T5Te [Option ID = 432]

7) Who wrote the famous book Kitab-ul-Hind ?

gfrg AT TRara-Sa-fg=s’ feaa i@t 97 2[Question ID = 109][Question Description = RO_7_ENG-HIN_Q_109]
1. Abul Fazl/31gs st [Option ID = 433]

2. Amir Khusrau/s#i¥ ga<r [Option ID = 434]

3. Al Biruni/srer &1 [Option ID = 435]

4. Firdausi/f%2T [Option ID = 436]

8) Which of the following options is correctly matched?

faafafag 9 @ 17 a1 faweT a8t gafra §2[Question ID = 110][Question Description = RO_7_ENG-HIN_Q_110]
Ellora - Shakas/T=I<T - 91 [Option ID = 437]

Mahabalipuram - Rastrakuta/#gTaq# - ¥Tg#e [Option ID = 438]

Meenakshi Temple - Pallavas/#Teft #faw - qeetar [Option ID = 439]

Khajuraho - Chandelas/@<[ZTer - == [Option ID = 440]

A WN -

9) Which Mughal emperor was a proficient Veena player ?

HIT AT HIAT ATAF TH AT AI0TATES AT 2[Question ID = 111][Question Description = RO_7_ENG-HIN_Q_111]
. Aurangzeb /3% Sia [Option ID = 441]

Akbar /== [Option ID = 442]

Jahangir/SigfiT [Option ID = 443]

Shahjahan/emgstgt [Option ID = 444]

A W N -

10) Which of the following 'Titles and persons’ is NOT correctly matched ?

e # |/ w1 ofids siv =iy s@wa g ?



[Question ID = 112][Question Description = RO_7_ENG-HIN_Q_112]
1. Parrot of India : Amir Khushrao/9med T g% - IHI¥ gEl
[Option ID = 445]
2. Scourge of God : Chengiz Khan/sTaTe T 3Tf¥9mT - =¥rst @1+
[Option ID = 446]
3. Strong Man of India : Sardar Patel/TZiiT # & SfU=aT: H¥a™ T2

[Option ID = 447]
4. Father of Indian Unrest : Abdul Gaffur Khan/erid WTZd T S - egel TFRIT @1

[Option ID = 448]
11) Who was the first Indian native ruler to accept the system of Subsidiary Alliance ?

TE TIH ATLH T OT9F F17 9, RIegia 7gAT IITAETIF G ® weqara w1 w1 AT ?2[Question ID = 113][Question
Description = RO_7_ENG-HIN_Q_113]

Scindia of Gwalior/¥Tferae & f&fe=m [Option ID = 449]

Nizam of Hyderabad/&=Tams & fa=tmsr [Option ID = 450]

Dilip Singh of Punjab/tsmer & =i f&ig [Option ID = 451]

Gaikwad of Baroda/@=TaT & TTa#4TE [Option ID = 452]

AN wnN -

12) Which of the following leaders was associated with the formation of the Congress Socialist Party ?

e & /@ FIT-GT A7 AT FEISTATE I1ET B 75T & ST A1?2[Question ID = 114][Question Description = RO_7_ENG-
HIN_Q_114]

P.C. Joshi/t. #ft. sreft [Option ID = 453]

Subhash Chandra Bose/q#TT =+ 19 [Option ID = 454]

Acharya Narendra Dev/#=md %= 29 [Option ID = 455]

Ram Manohar Lohia /T BHTg< AI{ZaT [Option ID = 456]

A W N -

13) Who was the Governor General of India during the Civil Disobedience Movement ?

I AITT NI A AT B TIAL TALH w17 4 ?2[Question ID = 115][Question Description = RO_7_ENG-HIN_Q_115]
. Frederic Chelmsford/s=fi F¥+IE [Option ID = 457]

. lIssac Reading/=z@ms Gf2 [Option ID = 458]

. Edward Irwin/T=4aTE z2fa= [Option ID = 459]

. Archibald Wavell/srfae= a3« [Option ID = 460]

A W N =

14) Which of the following events was probed by the Hunter Commission ?

FEXFATAT (AT * 1A f7w § o5 wTa7 7 F= F1 74T ?[Question ID = 116][Question Description = RO_7_ENG-
HIN_Q_116]

Chauri Chaura incident/=T<1-=<T =r2=T [Option ID = 461]

Demolition of Kanpur Mosque /&Y Hfes #T fares# [Option ID = 462]

Jalianwalla Bagh Massacre/STferaiaTeT a7 geaThTue [Option ID = 463]

Kakori Train Action/#THIET Z T#9r [Option ID = 464]

A w N =

Topic:- ROURDU_NATMOV_07JAN_S2

1) Mahatma Gandhi launched the individual Satyagraha to :

(i) Give expression to Indian people’s strong concurrent political feelings

(ii) Give the British Government an opportunity to peacefully accept the concurrent Indian demands.
Select the correct answer using the options given below:

AETAT T et 7 =ATBTT Gearag w71 an<s forar :

(i) "t Frrfest & o ua aorga, aadifas araarst w1 afvsafe 3 forg

(i) ATTHAT T AT FT qifGTEw TEwR FA @ o fafea g w7 ogw fKar
frTaT T 7 § 987 ST FHTIIT F:L

[Question ID = 117][Question Description = RO_7_ENG-HIN_Q_117]
1. (i) only/f& (i)

[Option ID = 465]
2. (i) only/f&r (ii)

[Option ID = 466]



3. Both (i) and (ii)/==T (i) T (ii)

[Option ID = 467]
4. Neither (i) nor (i)/ (i) 7 (ii)

[Option ID = 468]
2) The Governor-General of Bengal was given charge of all the company’s possessions in India by the :

fra afafaaw § ggT dT1a F T TTTH FY FOAT F FAviACT Fforewr v aAgc?

[Question ID = 118][Question Description = RO_7_ENG-HIN_Q_118]
1. Regulating Act 1773 /33garfe srferfaas 1773

[Option ID = 469]
2. Pits Act 1784/ sfarfaam 1784

[Option ID = 470]
3. Charter Act 1793/=Téx srfarfaas 1793

[Option ID = 471]
4. Amending Act 1781/srHafeT sferfaaer 1781

[Option ID = 472]
3) 'The Servants of India Society’ was founded by

TT AT qrw AT MATIN F FEATIF X |

[Question ID = 119][Question Description = RO_7_ENG-HIN_Q_119]
1. Bal Gangadhar Tilak/aTer FTe faers
[Option ID = 473]
2. Annie Besant/TT F¥<
[Option ID = 474]
3. Gopal Krishna Gokhale /ot FouT @t

[Option ID = 475]
4. Dadabhai Naoroji/=TaTeTs Sistt

[Option ID = 476]
4) Who was the British Governor General at the outbreak of First war of Independence in 1857 ?

ATLT & TIH TqTENTAT ATH, 1857 & ST farfasr wad < X 17 47T ?[Question ID = 120][Question Description =
RO_7_ENG-HIN_Q_120]

George Curzon/Sitst s+ [Option ID = 477]

Charles Canning/=Tex &f=3r [Option ID = 478]

James Dalhousie /S ==ZIS{T [Option ID = 479]

Richard Mayo/f¥=r€ &=T [Option ID = 480]

A W N -

5) Consider the following statements about the Swadeshi Movement :

(i) It was confined to Bengal

(ii) It promoted the establishment of national educational institutes.

Which of the statements given above is/are correct ? Choose the correct option.

TRt AT ® g # fAwifET 97 9 fFaefife .

() FgIma | grdifaa ar

(i) T8 THT Sferw ey F1 eAraar F farg ggrar v T
SYLE A & FIAAYFH T FI7T 9T /8, &I fAFT FT 9IT HX

[Question ID = 121][Question Description = RO_7_ENG-HIN_Q_121]
1. (i) only/Fa= (i)
[Option ID = 481]
2. (i) only/Fa= (ii)
[Option ID = 482]
3. Both (i) and (ii)/ (i) ¥ (ii) =41

[Option ID = 483]
4. Neither (i) nor (i)/ (i) 7 (ii)



[Option ID = 484]
6) Who was the first woman Cabinet Minister of India ?

qTT F1 9gAT wfgar #fade 731 F17 97 ?[Question ID = 122][Question Description = RO_7_ENG-HIN_Q_122]
1. Sarojini Naidu/aZIfST 12 [Option ID = 485]

2. Annie Besant/T+T S¥<= [Option ID = 486]

3. Rajkumari Amrit Kaur/TTsTaTeT sTafyd 17 [Option ID = 487]

4. Aruna Asaf Ali/T=uTT S <1 [Option ID = 488]

7) Govind Dhondhu Pant, popularly known as Nanasaheb and one of the principal leaders of Revolt of 1857, was the
adopted heir and successor of

Trfde gig o, /g ATAT AT 3 ATA & ATATATAT & AT 1857 FT w4 & Y@ ATTH # & U 7, __ @ EgT &Y
ITTTTAFTA 9 [Question ID = 123][Question Description = RO_7_ENG-HIN_Q_123]

Peshwa Baji Rao II/%eraT arsit 714 3= [Option ID = 489]

King of Jhansi /=TT & Tt [Option ID = 490]

Madhav Rao Scindia/@Taa 71 f&fe=T [Option ID = 491]

Malhar Rao Holkar/®eg¥ ¥19 gi==¥ [Option ID = 492]

A WN -

8) The last Mughal Emperor of India, Bahadur Shah Zafar, was exiled by the British to which place ?

NTTT ® & AR LI TSAT TZTET ATE THT FY FAST G170 gl fratfra a1 w77 7112 [Question ID = 124][Question Description =
RO_7_ENG-HIN_Q_124]

China/== [Option ID = 493]

Iran/ZT+ [Option ID = 494]

Bhutan/<1219 [Option ID = 495]

Burma/a@T [Option ID = 496]

A W N -

9) Consider the following statements regarding Annie Besant :

(i) Annie Besant spread her idea through New India and Commonwealth.

(ii) Central Hindu School at Banaras was established by Annie Besant that later become Banaras Hindu University

(iii) Annie Besant and Gandhiji had differences of opinion on Montague -Chelmsford reforms, Non-Cooperation movement
and boycott of foreign goods.

Which of the above statements is/are correct ? Choose the correct option.

Tt ¥ F grafeaq waat g fare ffsg :
(i) TAT AT T Fu Fo=rd F7 7L AT AT FAATI T & ATEAT § BATAT
(i) TAT FF T T BT fErg T &1 TATIAT I F F1 91 T3 FT170C ® w7700 feg Frafaaras gy war
(ifi) HIETL ATARIS AT, TAGATT N e < FA ¢t Feqan F afgsHT aT ATefY ST gt e F qAAT-FAT AT 2
IYAF R @ FITATFAT IR ?
[Question ID = 125][Question Description = RO_7_ENG-HIN_Q_125]
1. (i) only/ (i) f&r
[Option ID = 497]
2. (i) and (ii) only/ (i) == (ii) fr
[Option ID = 498]
3. (ii) and (iii) only/ (ii) 3% (iii) &
[Option ID = 499]
4. (i), (i) and (iii)/ (i), (ii) S (iii)
[Option ID = 500]

10) Battle of Buxar was fought in which year ?

FFT FT LF 5T 9o # FETTAT?[Question ID = 126][Question Description = RO_7_ENG-HIN_Q_126]
1763 [Option ID = 501]
1764 [Option ID = 502]
1857 [Option ID = 503]
1761 [Option ID = 504]

AW N =

11) In which year did the ‘Tana Bhagat Resistance Movement’ start ?



FTAT AT TIATG sigra {3 a« s A g ?[Question ID = 127][Question Description = RO_7_ENG-HIN_Q_127]
1910 [Option ID = 505]
1914 [Option ID = 506]
1918 [Option ID = 507]
1922 [Option ID = 508]

A W N -

12) The Namdhari or Kuka Movement had its origin in the corner of the Sikh kingdom, away from the places of
royal pomp and grandeur.

ATAYTH AT FHT A AT 1 Iafy g argrsa @ F A g AT, ST AT HGTH ST TAJT S TATAT & L AT
[Question ID = 128][Question Description = RO_7_ENG-HIN_Q_128]

1. North-West/3we-uf2e [Option ID = 509]

2. South-West/zf2rr-af2r [Option ID = 510]

3. North-East/3w¥-74 [Option ID = 511]

4. South/afrT [Option ID = 512]

13) Who formed the Indian National Army in 1942 ?

'SR f§3 WIS 1942 & fF|a 9747 2[Question ID = 129][Question Description = RO_7_ENG-HIN_Q_129]
Subhash Chandra Bose/H#TT =+ a9 [Option ID = 513]

Mohan Singh/#Tg+ f&g [Option ID = 514]

Shah Nawaz Khan/<¢mmg datst @14 [Option ID = 515]

. P K Sahgal/t. &. @gwer [Option ID = 516]

A w N =

14) In which of following sessions of the Indian National Congress was the song 'Jana-gana-mana’ sung for the first time ?

frg waredtT Trhia widT sfaaaT & 15t I AT-TT-TT FT 7T 79T ?[Question ID = 130][Question Description =
RO_7_ENG-HIN_Q_130]

1. Lahore session/®TgI¥ srfararere [Option ID = 517]

2. Karachi session/#<i=T arferarerT [Option ID = 518]

3. Calcutta session /T srteraerT [Option ID = 519]

4. Madras session/w=Ta wfararer [Option ID = 520]

Topic:- ROURDU_AGRI_07JAN_S2
1) Which of the following crops/plants are not insect pollinated?

rafafeg 9 & 19 9/8 saa/9ra Fre gufig a8 8?2

[Question ID = 131][Question Description = RO_7_ENG-HIN_Q_131]
1. Papaya/TdraT

[Option ID = 521]
2. Mustard/a%Et

[Option ID = 522]
3. Rice/gmH

[Option ID = 523]
4. Coffee/=®gar

[Option ID = 524]

2) Who discovered ‘Bordeaux Mixture’ which is used to control Mildew of grapevine, by using copper sulphate and
hydrated lime ?

fFaa ST T TRE (Mildew of grapevine) ®T g 3ra #37 & frg 19 qede T TAAIRAT AT FT TAT F4H T4 FFor
(Bordeaux Mixture) #1 @I &1 ?

[Question ID = 132][Question Description = RO_7_ENG-HIN_Q_132]
1. Keith Mason/#®= #&9

[Option ID = 525]
2. M.J.Narsimhan/ma .5 a7 faw"

[Option ID = 526]
3. Gurcharan Singh /= i

[Option ID = 527]



4. P.M.A. Millardet/dT.tq.7. ez
[Option ID = 528]

3) Alphanso variety of Mango is mostly grown in the state of :

ATHTET A F 1 Forew wHEaaT fg ST | ITqTed #1 ATAT § ?[Question ID = 133][Question Description = RO_7_ENG-
HIN_Q_133]

1. Punjab/dsitar [Option ID = 529]

2. Bihar/fargm® [Option ID = 530]

3. West Bengal/af2re =T [Option ID = 531]

4. Maharashtra/®gTg [Option ID = 532]

4) Laterite soil has a high content of

FeTrse fugt F frast ara7 9fas §rdt §:[Question ID = 134][Question Description = RO_7_ENG-HIN_Q_134]
1. iron oxides/ =g 3=k [Option ID = 533]

2. nitrogen/ATE2rs [Option ID = 534]

3. lime/=T [Option ID = 535]

4. humus/&2o7 [Option ID = 536]

5) Which culture should be given priority for cultivation of Groundnut ?

FUEAT A1 @1 L B forg 1€ g9 (Culture) &1 srafiwar 9T 1T 2[Question ID = 135][Question Description =
RO_7_ENG-HIN_Q_135]

Azospirillum/TSTErdIfw [Option ID = 537]

Rhizobium/¥r=sTifa=rw [Option ID = 538]

Mycorrhiza/®Tzae S [Option ID = 539]

Phosphobacteria/®E®ra=T [Option ID = 540]

A W N -

6) Crop rotation largely helps in:

HHA TIHRILHA LI I HLAT %:[Question ID = 136][Question Description = RO_7_ENG-HIN_Q_136]
1. Eliminating parasites/"Zs{I{a=t T 2 FZAT [Option ID = 541]

2. Improving soil fertility/fagr &1 Id¥ar =1 FgemeaT [Option ID = 542]

3. Producing a greater choice of plant products/Ttelt ¥ SaTaT foFeq & IeuTg Ieasr AT [Option ID = 543]

4. Reducing use of pesticides/®TeATeri FT ITFTT FH F7 2q [Option ID = 544]

7) Which of the following is NOT a natural factor affecting soil fertility ?

Fraifeg @ @ 37 ITATHYT ® 7 T T® ad® & 797fara FTT 747 77 721 8 ?[Question ID = 137][Question Description =
RO_7_ENG-HIN_Q_137]

Soil age/f&Y #Y 37 [Option ID = 545]

Air/atg [Option ID = 546]

Parent material /9« | [Option ID = 547]

Topography/®I«Tfd [Option ID = 548]

AW N =

8) Major fungi that affect food-grains in storage are

T UG FT TATIAT FIX ITAT LG FIF §:[Question ID = 138][Question Description = RO_7_ENG-HIN_Q_138]
1. Mucor/=#¥ [Option ID = 549]

2. Candida/#<T=T [Option ID = 550]

3. Alternaria/&@e= 34T [Option ID = 551]

4. Aspergillus/TeaZ{Siere [Option ID = 552]

9) What is the most dominant source of money lending to farmers in rural areas ?

et ®7T UTHIw G & KU IV FT AT T @19 g?[Question ID = 139][Question Description = RO_7_ENG-HIN_Q_139]
Rural banks/ImHTor &4 [Option ID = 553]

. Local money lenders/=T TTgaTT [Option ID = 554]

Nationalized banks/TTg=r%a &4 [Option ID = 555]

Co-operative agencies/dag®T TSHT [Option ID = 556]

A w N =

10) What are the three main ingredients in fertilizers ?



SEF F YT &g F979 F17 & 22[Question ID = 140][Question Description = RO_7_ENG-HIN_Q_140]
1. Nitrogen, Phosphorus, Potassium/ATZZIST, HFHEH, T [Option ID = 557]

2. Nitrogen, Calcium, Phosphorus/aTg2rsie, &{eera®, wERE [Option ID = 558]

3. Potassium, Calcium, Nitrogen/areforrm, Ffeeraa, ATe2rer= [Option ID = 559]

4. Nitrogen, Sulphur, Phosphorus/aTZzrse, H%, wEREA [Option ID = 560]

11) Van-Mahotsav was started in the year ?

FT ggIcaa {5 ad & sw<w a7 747 -[Question ID = 141][Question Description = RO_7_ENG-HIN_Q_141]
1947 [Option ID = 561]
1950 [Option ID = 562]
1955 [Option ID = 563]
1960 [Option ID = 564]

A WN -

12) Nitrogen fixing ability of Casuarina is due to

T 9 argdieT Radsww Fvvgarfead aadt

[Question ID = 142][Question Description = RO_7_ENG-HIN_Q_142]
1. Rhizobium/ITzaTsiiz®

[Option ID = 565]
2. Azotobactor/TSETa#FT &

[Option ID = 566]
3. Frankia/%vsm &

[Option ID = 567]
4. Anabaena/F=TEAT 7

[Option ID = 568]

13) Social Forestry was first recommended by :

grarhrs Frfasdt #1 gt 91T fraa Rrerfa %71 :[Question ID = 143][Question Description = RO_7_ENG-HIN_Q_143]
1. National Commission on Agriculture/ITErT FfW IRT [Option ID = 569]

2. Food and Agriculture Organization/@T=r 3% T s+ [Option ID = 570]

3. Forest Research Institute/&7 &4 &A1= [Option ID = 571]

4. United Nations/#<h TTg &= [Option ID = 572]

14) The world Agro-forestry centre is located at

forsa gy arfasf s # fRora & [Question ID = 144][Question Description = RO_7_ENG-HIN_Q_144]
Jhansi/=ET [Option ID = 573]

Nairobi /STt [Option ID = 574]

Dehradun/=gZTga [Option ID = 575]

Jodhpur/starq [Option ID = 576]

A W N -

Topic:- ROURDU_POP_07JAN_S2
1) Who coined the term 'Ecosystem' ?

qIRE T (SHITATTH) A58  ALAATTRAT HIA @ ?

[Question ID = 145][Question Description = RO_7_ENG-HIN_Q_145]
1. Arthur Transley/ << Zr=aet

[Option ID = 577]
2. Eugene Odum/F=A #rsw

[Option ID = 578]
3. Eugenius Warming/Zsffere arfHr

[Option ID = 579]
4. Charles Darwin/=Ted ETefa=

[Option ID = 580]

2) How much energy is transferred from one trophic level to the other trophic level ?



gt ST T Tt TqT & gER T TG T 1 7 ofeafda e’ §:[Question ID = 146][Question Description = RO_7_ENG-

HIN_Q_146]
100% of the energy received by consumer/®ft 397 g [Option ID = 581]

Only organic matter is transferred/fr® St Tamef &1 gf¥=d= [Option ID = 582]

10% of the energy received by consumer/ITsIhT 10% IST STH &7t g [Option ID = 583]
50% of the energy received by consumer/ITHI<HT 50% ST STH F3dT § [Option ID = 584]

A W N -

3) India is divided into how many bio-geographical regions ?

aTLq &Y g st atrforas &= & frarfra fear w31 @2[Question ID = 147][Question Description = RO_7_ENG-HIN_Q_147]
10 [Option ID = 585]

15 [Option ID = 586]

6 [Option ID = 587]

20 [Option ID = 588]

A W N -

4) Which is not true about Ganges river dolphins?

TAT ST FT SIRHT S I A 97 99 787 & ?2[Question ID = 148][Question Description = RO_7_ENG-HIN_Q_148]

1. They are found only in fresh water/3 &= Tl T=T ¥ 9T ST & [Option ID = 589]

2. They are blind/# =&  [Option ID = 590]

3. They are in the category of endangered species/ T YT STt 3 4oft & § [Option ID = 591]

4. They are found in abundance in Ganga river/3 T 7T # agaTad 977 STq 2 [Option ID = 592]

5) ‘Tigers’ are not considered as species.

JTET FT g1y gt ATITSTAT [Question ID = 149][Question Description = RO_7_ENG-HIN_Q_149]

Predatory/farT<T [Option ID = 593]
Flagship/@=3Tforg (satdre) [Option ID = 594]
Indicator/@== [Option ID = 595]

. Umbrella/=a<T [Option ID = 596]

AW N -

6) Which of the following tribal languages has been given official status in West Bengal and regarded endangered by
UNESCO?

frafafea & | fFa st wrar w1 offaw Fare g ufywris et fRar 737 g s Aeh g78 qauT A7a71 T47 87

[Question ID = 150][Question Description = RO_7_ENG-HIN_Q_150]
1. Sadri/aTdr

[Option ID = 597]
2. Kurmali/=F#ATeft

[Option ID = 598]
3. Kurukh/®&Ea

[Option ID = 599]
4. Santali/@aTeT

[Option ID = 600]
7) Which State in India has started 'One district One product’ scheme ?

AT # T3 UST 7 'TF AT TH ST AAAT LE AT G ?

[Question ID = 151][Question Description = RO_7_ENG-HIN_Q_151]
1. Rajasthan /Zrsream=

[Option ID = 601]
2. Uttar Pradesh/3=¥ T&er

[Option ID = 602]
3. Madhya Pradesh/@eT Taer

[Option ID = 603]
4. Chhattisgarh/ s=fraz

[Option ID = 604]

8) The percentage of urban population in India according to Census 2011 is



FATTAT 2011 F HTAT AT FT A TG AT F7T I{I4q7 8-

[Question ID = 152][Question Description = RO_7_ENG-HIN_Q_152]

1. 20.8

[Option ID = 605]
2. 25.7

[Option ID = 606]
3. 27.8

[Option ID = 607]
4. 31.16

[Option ID = 608]
9) What is NOT true about Niti Aayog ?

AT AT IR A FATATAGT® ?

[Question ID = 153][Question Description = RO_7_ENG-HIN_Q_153]
1. It's Chairperson is Prime Minister of India / TH% £7eT LT & T&TAHAT &

[Option ID = 609]
2. All Chief Ministers of States and Lieutenant Governors of Union Territories are its members / T3 & T4t T&d W1 37 Fwzemfaa Ta2eil & STsaaa

T qIET

[Option ID = 610]
3. It prepares Five Year plans for the country / g 39T % foIT g=atig FIo=T0 JATE F2aT &

[Option ID = 611]
4. Niti Aayog was established in 2015 / =ifa =T 2015 & w=r1fua & T2 =7

[Option ID = 612]
10) Census of population in India is done after every :

AT A TAGEAT TAAAAT = T9F + 1T AT 8 ?

[Question ID = 154][Question Description = RO_7_ENG-HIN_Q_154]
1. 2 years/2 911

[Option ID = 613]
2. 5years/5 9Tt

[Option ID = 614]
3. 7 years/7 AT

[Option ID = 615]
4. 10 years/10 911

[Option ID = 616]
11) Which one of the following Union Territories of India has more females than males?

e & @ W@ FTag FrAaT €9 AT g_q g, F™raw AfFAT AqoTa gt F¥ AT AT SATAT §

[Question ID = 155][Question Description = RO_7_ENG-HIN_Q_155]
1. Chandigarh/=¥T Tz

[Option ID = 617]
2. Delhi/feeft

[Option ID = 618]
3. Lakshadweep/=&T5T

[Option ID = 619]
4. Puducherry/qg=%t

[Option ID = 620]
12) Which of the following is used to work out the sex ratio in India ?

afafeg =t & § 917 & fREmrgarT 7 g1 HRaar ?
[Question ID = 156][Question Description = RO_7_ENG-HIN_Q_156]



=100

1. Femalepopulation 100/ Afg e FAEET
Male population T S ET

[Option ID = 621]

2. Female population X].UUU," Aige FweEn

b ooy
Male population O S=REm 1000

[Option ID = 622]

3. Male population

1]
Famale population Klﬂﬂf mmxj-t]t]

[Option ID = 623]

4 Male population

www
Female population SRS 'II' HTge S AR

[Option ID = 624]
13) Which of the following States/Union Territories of India has the maximum number of National Parks?

freafafaa & @ w13 & fFg Tsa/ae arfya vea & g9 safas aHig s §?

[Question ID = 157][Question Description = RO_7_ENG-HIN_Q_157]
1. Assam/EH

[Option ID = 625]
2. Meghalaya/®=merT

[Option ID = 626]
3. Arunachal Pradesh/sr&=omm=er 9T

[Option ID = 627]
4. Andaman and Nicobar Islands/ =T Ue AT 27 @9g

[Option ID = 628]
14) Which among the following is the least populated State in India ?

ity gt § & 9177 1 TTT TAE AT ITAT 5T |

[Question ID = 158][Question Description = RO_7_ENG-HIN_Q_158]
1. Sikkim/frfEm

[Option ID = 629]
2. Goa/draT

[Option ID = 630]
3. Manipur/@fore

[Option ID = 631]
4. Mizoram/f&sTeq

[Option ID = 632]

Topic:- ROURDU_GEOG_07JAN_S2
1) The country which is the largest silk producer in the world is :

forsg & 9T SATIT AW FT ITYTIT FIA ATAT A FIT-AT G ?

[Question ID = 159][Question Description = RO_7_ENG-HIN_Q_159]
1. India/«{ma

[Option ID = 633]
2. China/=1=

[Option ID = 634]
3. Brazil/aTstier

[Option ID = 635]
4. Japan/STame

[Option ID = 636]



2) ‘Kalahari’ desert is situated in

LRECERS

[Question ID = 160][Question Description = RO_7_ENG-HIN_Q_160]
1. South Africa/=zferor st

[Option ID = 637]
2. North Africa/3=<T stfirsr

[Option ID = 638]
3. West Asia/mfar uform

[Option ID = 639]
4. South America/af2ror st

[Option ID = 640]

HTATET AREIH _

3) The Amazon basin of South America and the Congo Basin of Africa lie in the

AT STRTCHT FT srdtore @t T asfrwr w1 HIAL @A, __#fRaag

[Question ID = 161][Question Description = RO_7_ENG-HIN_Q_161]
1. Mediterranean belt/ qHEaERET &=

[Option ID = 641]
2. Equatorial belt/ e ¥@T

[Option ID = 642]
3. Tropical monsoon belt/Stuafea e FTe

[Option ID = 643]
4. Monsoon belt/dT g 7

[Option ID = 644]
4) Turpentine is obtained by the of resin harvested from mainly pine trees .

1T wTE faTsIrar g

ITICATT & €T & A5 5 I8T & FTE AT A B

[Question ID = 162][Question Description = RO_7_ENG-HIN_Q_162]
1. sublimation/3eaqTa=+

[Option ID = 645]
2. decantation/fReaTzor

[Option ID = 646]
3. sedimentation/#=HTaT

[Option ID = 647]
4. distillation/zmHa"

[Option ID = 648]

5) Rat hole mining is done in which of the following areas ?

YT ItEaq (AA 7 @ fra g+ fRaa g ?

[Question ID = 163][Question Description = RO_7_ENG-HIN_Q_163]
1. Cherapunji/==Tdst
[Option ID = 649]
2. Durg/zx
[Option ID = 650]
3. Bastar/s#a¥

[Option ID = 651]

4. Chikamanglur /e

[Option ID = 652]

6) Black soil is ideal for growing cotton and is also known as :

FTAT gt Fard & forw sraef A4t STt B, ™R F ATH G AT JTAT ATAT §:



[Question ID = 164][Question Description = RO_7_ENG-HIN_Q_164]
1. Khadar/@Ts™

[Option ID = 653]
2. Bangar/a ™

[Option ID = 654]
3. Kankar/#®a®%

[Option ID = 655]
4. Regur/¥¥
[Option ID = 656]

7) Which of the following types of forests are found in the state of Jammu and Kashmir ?

T T FLHATTH /T THILH FAX ITTATT § ?

[Question ID = 165][Question Description = RO_7_ENG-HIN_Q_165]
1. Tropical thorn forests/Iourrfeaeft a7

[Option ID = 657]
2. Rain forests/aof a7

[Option ID = 658]
3. Mangrove forests/&3Ta a9

[Option ID = 659]
4. Montane forests/Tad = a7

[Option ID = 660]
8) The 'Sahyadris' are popularly known as :

ggarfa =1 fra w0 & darfya frarsrar @

[Question ID = 166][Question Description = RO_7_ENG-HIN_Q_166]
1. Eastern Ghats/Z¥es =Te (THT =)

[Option ID = 661]
2. The Aravallis/#ra=ft

[Option ID = 662]
3. Western Ghats/afarHT =

[Option ID = 663]
4. Himalayas/@wms

[Option ID = 664]
9) Pre-monsoon showers that help in early ripening of mangoes are known as ‘Mango Showers’ in which States ?

& ATAYT ITIXT FT TETIAT /@ ST TeaT IF A7 § Foreg (Aatias § § g7 UsA0 | "arg awd sgrorard & wsg sta-2 §7

[Question ID = 167][Question Description = RO_7_ENG-HIN_Q_167]
1. Rajasthan and Gujarat/ITsTerTe T4 ToTa

[Option ID = 665]
2. Kerala and Karnataka/#¥e T FATeH

[Option ID = 666]
3. West Bengal and Assam /T2 aTer U SrEmd

[Option ID = 667]
4. UP and Bihar/Z.41. T4 fagw

[Option ID = 668]
10) What is river Brahmaputra known as in Bangladesh ?

TR A FELT 7T FY /T TTH R ATATATATE ?

[Question ID = 168][Question Description = RO_7_ENG-HIN_Q_168]
1. Tsangpo/&rar

[Option ID = 669]



2. Padma/q=T

[Option ID = 670]
3. Dhinag/fRgmT

[Option ID = 671]
4. Jamuna/STqAT

[Option ID = 672]
11) Which of the following rivers has the largest river basin in India ?

e aqFw ® ag F17-8T AT 917 §, NGF7 AT §F 998 SATI} ATIF €T F fIeqe g ?

[Question ID = 169][Question Description = RO_7_ENG-HIN_Q_169]
1. Narmada/7¥9aT

[Option ID = 673]
2. Ganga/Rmm

[Option ID = 674]
3. Brahamputra/sIg[qa

[Option ID = 675]
4. Godavari/aTa<r

[Option ID = 676]
12) Which of the following areas gets heavy rainfall early in the season on the onset of monsoon ?

Auifrg & @ 98 FITAT ©ATT §, TET T ATAGT F 7T 9T IITLT AT ?

[Question ID = 170][Question Description = RO_7_ENG-HIN_Q_170]
1. Western Ghats/Tf%rft =me

[Option ID = 677]
2. Khasi Hills/@mt wzifz=t

[Option ID = 678]
3. Ganga Valley/=TT =Ty

[Option ID = 679]
4. Deccan Plateau/3#H &T 931

[Option ID = 680]
13) is the highest peak in the peninsular plateau.

IAETNT TS H SFIA ATET |

[Question ID = 171][Question Description = RO_7_ENG-HIN_Q_171]
1. Shevroy hills/ra=T7 wgrfzat

[Option ID = 681]
2. Anai Mudi/=aTE T2

[Option ID = 682]
3. Doda Betta/=TaT 2T

[Option ID = 683]
4. Mohendragiri/ag==fift

[Option ID = 684]
14) Which of the following States does not share its boundary with Myanmar?

faafafea d @ sY9-91 757 wqia S vy qot A7 9rAv TG F7L@v ?

[Question ID = 172][Question Description = RO_7_ENG-HIN_Q_172]
1. Arunachal Pradesh/=r=urm=e w591

[Option ID = 685]
2. Mizoram/fasTe

[Option ID = 686]
3. Sikkim/frfEe



[Option ID = 687]
4. Manipur/®forqT

[Option ID = 688]

Topic:- ROURDU_CA_07JAN_S2
1) Which of the following banks launched ‘Suraksha Salary Account’ for the employees of MSME sector ?

TA.TH.TA.E. &9 3 SR & g feg 3 & g130 'quar da STa1se F 71 Oy fHFara1arg ?

[Question ID = 173][Question Description = RO_7_ENG-HIN_Q_173]
1. Airtel Payment Bank/T=<ee THe §F

[Option ID = 689]
2. State Bank of India/®2z & 31+ sfv=ar

[Option ID = 690]
3. Jammu & Kashmir Bank/s# Toe FeHi7 &%

[Option ID = 691]
4. Paytm Payment Bank/T&iue THe g

[Option ID = 692]
2) Name the organization which won the National CSR [Corporate Social Responsibility] Award 2021.

ST EEAT HTATH TqT3C Foraa o1, 77, 0% [FTTIRE ATATIS RreEATrdt] gEaR 2021 SAaT1 3?2

[Question ID = 174][Question Description = RO_7_ENG-HIN_Q_174]
1. Ya-All/FT-3te

[Option ID = 693]
2. Goonj/ist

[Option ID = 694]
3. Helping Hands/&femT gs9

[Option ID = 695]
4. Child line India/=Tsee Fa< =T

[Option ID = 696]

3) Who has become the first Indian male shuttler to win the silver medal at World Badminton Championship 2021 men's
event held in Spain?

w9 ® sarfrg farm Sefies ARgafrT 2021 gaw wfaafiar & w907 o3 sftaw a1 797 qeaX FI19 99 77 §?
[Question ID = 175][Question Description = RO_7_ENG-HIN_Q_175]
1. Lakshya Sen/=&x &

[Option ID = 697]
2. Pranay Kumar/9orT FHT

[Option ID = 698]
3. Kidambi Srikanth/frareT =fieia

[Option ID = 699]
4. Parupalli Kashyap/T&deeit F9T

[Option ID = 700]
4) Neeraj Chopra, gold medalist at Tokyo olmpics(2020),was awarded by the President of India in November 2021
FEIY 2021 | 91T ® TIPITT 7 STFAT Arel FUFq (2020) F =99 5% AR IT AT AATSTF T QEH TI77 AT 7

[Question ID = 176][Question Description = RO_7_ENG-HIN_Q_176]
1. Major Dhyan Chand Khel Ratna Award/® ST &9 9§ & ¥d T

[Option ID = 701]
2. Arjuna Award/sS[ TR

[Option ID = 702]
3. Dhronacharya Award/ToT=ma qZeTT

[Option ID = 703]



4. Rashtriya Khel Protsahan Puraskar/ITg1 @ STcHTE" LAY
[Option ID = 704]

5) World's highest railway bridge is over which river ?

g adt o2 forsg 7979 397 4T I9TA7 AT &2

[Question ID = 177][Question Description = RO_7_ENG-HIN_Q_177]
1. Dibang/featT

[Option ID = 705]
2. Chenab/==Ta

[Option ID = 706]
3. Lohit/=ifZa

[Option ID = 707]
4. Brahmaputra/sgq=

[Option ID = 708]

6) What is the name of the Expressway of Uttar Pradesh whose foundation stone was laid in Dec 2021 ?

ST VRN & ST TFaITS HT AT ATH g raay faga< 2021 § swrgrefirar &t a8 32

[Question ID = 178][Question Description = RO_7_ENG-HIN_Q_178]
1. Unity Expressway /TeaT TaIET

[Option ID = 709]
2. Atal Expressway/3@e Taiea

[Option ID = 710]
3. Ganga Expressway /7T TaRTIE

[Option ID = 711]
4. Sahej Expressway/®gst UasHa

[Option ID = 712]
7) Who of the following received Padma Vibhushan 2021 award posthumously ?

fafafea & @ 353 a3y faspoor, 2021 7R, Ao faar ?

[Question ID = 179][Question Description = RO_7_ENG-HIN_Q_179]
1. Indu Jain/z7g S

[Option ID = 713]
2. S. P. Balasubramanium/u®. . aTerreareraT

[Option ID = 714]
3. Milkha Singh/fiear fig

[Option ID = 715]
4. Basu Chatterjee/aTq =esft

[Option ID = 716]
8) What is the Light House Project related to ?

T3 ZTIq aiersaT frad dafaa g ?

[Question ID = 180][Question Description = RO_7_ENG-HIN_Q_180]
1. Bringing electricity to the house/=%i & fasTeft &= & 7 ¥

[Option ID = 717]
2. Keeping the house clean/=¥ T a1 T&@+ &

[Option ID = 718]
3. Protection from lighting /smeTsfiar faset & qefera wa & forg

[Option ID = 719]
4. Providing eco-friendly strong house /affEurfdsia dqa & forT asaa 7% 3uersy Fa9 & Had &

[Option ID = 720]



9) In which of the following states / UTs the United Kingdom is keen on exploring trade and investment opportunities in
Infrastructure, Health care and IT sectors ?

fretafaa 9 9 frg Tsg F gaTzes fHaew gfHard o9, caresy T wde aarsi & sArae @ g 3 aaad FT ST 73 3
T Sgs g ?

[Question ID = 181][Question Description = RO_7_ENG-HIN_Q_181]
1. Telangana /=TT

[Option ID = 721]
2. Tamil Nadu/@faerTg

[Option ID = 722]
3. Puducherry/qgg¥

[Option ID = 723]
4. Andaman & Nicobar Islands/s@wT T fAsraT €7 79g

[Option ID = 724]
10) Which country has topped, Global Innovation Policy Center’s (GIPC) Intellectuals Property Index (9th edition) in 2021 ?

fafafeag & Fr9-a1 390 2021 F F09% Tarae Ay F7w aifes aferere gt (9 F demwm) 7 ofifeq g ?

[Question ID = 182][Question Description = RO_7_ENG-HIN_Q_182]
1. China/=f=

[Option ID = 725]
2. United States of America/gATzes & S TATET

[Option ID = 726]
3. Australia/smesforar

[Option ID = 727]
4. Norway/AT=

[Option ID = 728]
11) Scientists of which county first identified Omicron and reported about the variant to WHO ?

a2 3 AaTist 998 75 ATCHETT FT TZATT F1 HTWHO FT TqF THILF q1R | qqTIT?

[Question ID = 183][Question Description = RO_7_ENG-HIN_Q_183]
1. China/==

[Option ID = 729]
2. South Africa/=f&rr srfiar

[Option ID = 730]
3. United Kingdom/7aTzes fmrew

[Option ID = 731]
4. India/9Ed

[Option ID = 732]
12) Who was named the captain of India’'s women's National Cricket Team for the test match with England in 2021 ?

2021 ® 7A€ & T &€ AT & fHQ AT A1 Afgar U7 Fde A7 3 sama 3 €7 A 5@ garwar an?

[Question ID = 184][Question Description = RO_7_ENG-HIN_Q_184]
1. Mithali Raj/fareft oot

[Option ID = 733]
2. Meghna Singh/#=T &=

[Option ID = 734]
3. Taniya Bhatiya/aTf<=m wrfear

[Option ID = 735]
4. Harmanpreet Kaur/g¥a=aid #I¥

[Option ID = 736]

13) The Nobel Peace Prize 2021 was awarded to Maria Ressa and Dmitry Muratov. What is Ms. Ressa’s country of origin?



ArieaT TAT < Ryt sgrars #1 Avaw aifa geea 2021 frarwar g gt 39T ra a At faardt €7

[Question ID = 185][Question Description = RO_7_ENG-HIN_Q_185]
1. Malaysia/®<rforT

[Option ID = 737]
2. Russia/&F

[Option ID = 738]
3. Philippines/firefdis

[Option ID = 739]
4. Spain/T=

[Option ID = 740]
14) Recently the Suez canal was blocked due to a large ship of which country?

FAt gTA ET A, Fra a0 B fAATH TETHT F FIIT W@F AT IIEI S ?

[Question ID = 186][Question Description = RO_7_ENG-HIN_Q_186]
1. Malaysia/®ertorT

[Option ID = 741]
2. Saudi Arabia/@34T sr¥faaT

[Option ID = 742]
3. Taiwan/dTsaTa

[Option ID = 743]
4. lraq/zT%

[Option ID = 744]

Topic:- ROURDU_UP_07JAN_S2
1) Govind Ballabh Sagar project is situated in :

Tif=g gears GTAT IRIITAT gl srafRaq g ?

[Question ID = 187][Question Description = RO_7_ENG-HIN_Q_187]
1. Mirjapur - Devprayag/f@siTqZ-gasamT

[Option ID = 745]
2. Mirjapur - Pipari/fasiqe-faoéy

[Option ID = 746]
3. Jhansi - Betwa/=#Y-arqaT

[Option ID = 747]
4. Bulandshahar - Naraura/g@@9rg? -3y

[Option ID = 748]
2) Which one is mismatched with reference to Uttar Pradesh?

ITT TR D GIH | TS TF ILHA FETT &

[Question ID = 188][Question Description = RO_7_ENG-HIN_Q_188]
1. National Botanical Research Institute - Lucknow /TSI aa&qfd STHETT HET - TES

[Option ID = 749]
2. Central Leather Research Institute - Agra/Fvid FHET AHLTT HEAT - ARTT

[Option ID = 750]
3. Sardar Ballabhbhai Patel Agricultural University - Meerut/®%aTe aoas AT 92 0 e - i

[Option ID = 751]
4. Indian Institute of Pulse Research - Kanpur/9TadT Terg AHTT ST - FAIT

[Option ID = 752]
3) Which type of soil is mostly found in Uttar Pradesh?

ST R | TH@AIT Fopa wH1T A7 fagt ardt st @ 2



[Question ID = 189][Question Description = RO_7_ENG-HIN_Q_189]
1. Alluvial soil/srre gt

[Option ID = 753]
2. Sandy Loam soil /g=E e firdy

[Option ID = 754]
3. Red Loam/¥Tel gHE

[Option ID = 755]
4. Red and Black mixed/=Ter = et fofare

[Option ID = 756]

4) ‘'Jaswant Singh ki Chatri' is said to be the only monument to have been built by a Hindu during the Mughal era. Where is
it located?

e w19 & g g faffiq sadq fag 1 3 tdAra w1 § a8 Fg1 o Raq §?

[Question ID = 190][Question Description = RO_7_ENG-HIN_Q_190]
1. Saharanpur/fgreaqT

[Option ID = 757]
2. Prayagraj/Jammarst

[Option ID = 758]
3. Lucknow/sE@q 3

[Option ID = 759]
4. Agra/3mmaT

[Option ID = 760]

5) Which one of the following city is the most famous for leather industries ?

fufafas @ Fta-a1 agTad ST # fre wfrg § 2

[Question ID = 191][Question Description = RO_7_ENG-HIN_Q_191]
1. Aligarh/=r<fr g

[Option ID = 761]
2. Meerut/%%s

[Option ID = 762]
3. Kanpur/#F\x

[Option ID = 763]
4. Agra/3mmT

[Option ID = 764]
6) What is SVAMITVA scheme ?

TITIHTT (SVAMITVA) TNSTAT FAT§ ?

[Question ID = 192][Question Description = RO_7_ENG-HIN_Q_192]
1. It is a programme to provide house to all rural people/ag TT ATHIT TR FT =T ITAE FLTT HT FIAFT &

[Option ID = 765]
2. Itis a programme to provide documentary proof to rural people’s residential properties. /ag JTHIOT ARIT T ATATHIT TFIT T FEATAAT THTIT T&TT FTeA
T UF FHAFA &

[Option ID = 766]
3. It is to provide monetary benefit to Rural people/ JT¥ToT ARTT T fa=rr AT T&T FH2=T

[Option ID = 767]
4. It is to provide employment to poor people in rural and urban areas/=/g JTHIT ANIE AT QLT &= § TG AN AT SN 27 & o7 &

[Option ID = 768]
7) In Uttar Pradesh the ‘Dargah’ of Shekh Salim Chisti is situated in :

ST MR & 4G TATH fredt #1 T Fgl kA7 g ?

[Question ID = 193][Question Description = RO_7_ENG-HIN_Q_193]
1. Lucknow/d@« 3



[Option ID = 769]
2. Fatehpur Sikri/®agq® T

[Option ID = 770]
3. Agra/smTa

[Option ID = 771]
4. Jaunpur/Sie{T

[Option ID = 772]

8) Which one of the following is not correctly matched?

frwfafaa @ @ #1€ U A9 §, STRT TIT HI0Q

[Question ID = 194][Question Description = RO_7_ENG-HIN_Q_194]
1. Amrit Lal Nagar - Writer/sTqaeTe ARIY - 4@

[Option ID = 773]
2. Naushad - Musician/=TomTg - FfTq=TT

[Option ID = 774]
3. Kaifi Azmi - Poet/#T sreret - =i

[Option ID = 775]
4. Acchan Maharaj - Table/3=gT WL - Ta«AT

[Option ID = 776]
9) What is the main objective of “Uttar Pradesh Udyog Bandhu Yojna” ?

"IAT TR SN g TITAT FT L& ST FAT G ?

[Question ID = 195][Question Description = RO_7_ENG-HIN_Q_195]
1. Promotion of the export of products produced from Uttar Pradesh/3w¥ s=er & Scqmiad Seute 1 f=a7d 2q Treargs

[Option ID = 777]
2. Ensuring the timely establishment of industrial units/=H aag =TI THTAT T TOT FEAT

[Option ID = 778]
3. To provide technical training to industrial workers/s=iT{is FTHITIT T THATHT TTAEAT ITASE FITAT

[Option ID = 779]
4. To provide training in professional administration/zITa= T Toma & TOeT0r IUeTeer =T

[Option ID = 780]

10) Uttar Pradesh is bounded by how many Indian States/UT ?/3TX o4 foaa WTLATT USHT/a5 a1iera yxei & forer g ?

[Question ID = 196][Question Description = RO_7_ENG-HIN_Q_196]
1. 7

[Option ID = 781]
2. 8

[Option ID = 782]
3.9

[Option ID = 783]
4. 10

[Option ID = 784]

11) Which among the following is NOT correctly matched ?

frafafead @ st afigafwaadig?

[Question ID = 197][Question Description = RO_7_ENG-HIN_Q_197]
1. 'Tamas' - Bhism Sahni/@®e - sfroq =T

[Option ID = 785]
2. The Burning Train - Amrita Pritam/aT afw 2 - srar sfiaw

[Option ID = 786]
3. Mahasamar - Narendra Kohli/ AgHT - 7¥7x Figel

[Option ID = 787]



4. An Area of Darkness - V. S. Naipaul/ TS T &% =Teh - 1. TH. AMI9(T
[Option ID = 788]

12) Which one of the following is mismatched :

rafafrg § Fta-a1 fAwes 977 82

[Question ID = 198][Question Description = RO_7_ENG-HIN_Q_198]
1. Khusro Bagh-Lucknow/g#3T aTT-T@w3;

[Option ID = 789]
2. Tomb of Lal Khan-Varanasi/@Tel @TH T Heha<T-a 0T

[Option ID = 790]
3. Chini ka Rauza-Agra/=+T T TIelT-31T1

[Option ID = 791]
4. Chaukhandi Stupa-Sarnath/=T@<T ¥T-8TATT

[Option ID = 792]
13) From the employment point of view which is the largest industry in Uttar Pradesh?

ST TR | TR & IIFIT & FIT-GT ATIFH ST E ?

[Question ID = 199][Question Description = RO_7_ENG-HIN_Q_199]
1. Pottery/fHgr & ad=

[Option ID = 793]
2. Handloom/ ga=T=T

[Option ID = 794]
3. Leather/=#=T

[Option ID = 795]
4. Cement/HTHz

[Option ID = 796]
14) What is the reason behind the drastic increase of population of Uttar Pradesh?

ST AT FT AIATAF TTE AT IETALT 3 Y FIT-ATHIIU G ?

[Question ID = 200][Question Description = RO_7_ENG-HIN_Q_200]
1. increasing literacy rate/forar =% # gz

[Option ID = 797]
2. improvement in health and control on diseases/FaTe= § Fe i STt av A=

[Option ID = 798]
3. improvement in agriculture/#%f¥ ¥ Tere

[Option ID = 799]
4. fast urbanization /s 7f & ergdrarvor

[Option ID = 800]






